Learning reminders

Find percentages of amounts.
s ’ How can we find 50%
4 ™ of £320?
D e
50% is —
equivalent to {
1/, so we can
{:Ive £320. Now we know 50%,
- we can work out 25963
X 2
Workout 10% - —
and 1% of £320. 25% is
equivalent to
!/s. We can
halve £320, then
halve again,
’How we can find " o
™ . 10%?
This is the %
same as
finding /0.

Learning Reminders

Find percentages of amounts.
What other Now we know 50% and
percentages we could ® 25%, how can we find 75%?
" find now? How? by
? And if we know 1%,
® how can we find 2%?

Now we know 10%,
- how can we find 5%?







